1. Consider the following statements regarding
the Convention on Biological Diversity (CBD):

1. Adaptation Fund (AF) projects was
established under the Convention on
Biological Diversity (CBD) in 1992.

2. The Cartagena Protocol on Biosafety
(CPB) was negotiated under the aegis of
the Convention on Biological Diversity
(CBD).

Which of the above statements is/are correct?

(a) 1only
(b) 2only
(¢) Both1and?2 5.

(d) Neither 1 nor 2

2. Consider the following statements regarding
the Stockholm Convention:

1. It calls for international action against
Persistent Organic Pollutants (POP).

2. Endosulfane was banned in India in 2011
under this convention.

Which of the above statements 1is/are

incorrect?
(a) 1only
(b) 2only
(¢) Both 1 and 2
(d) Neither 1 nor 2
3. Which of the following pairs is/are correctly
matched?

1. Basel Convention: Transboundary
Movements of Hazardous Wastes

2. Rotterdam  Convention:  Hazardous
Chemicals and Pesticides

3. Ramsar Convention: Transnational
marine resource harvesting

Select the correct option using the codes given
below:
(a) 1and2only
(b) 2 and 3 only
(¢) 1and 3only
(d 1,2and3
4. Consider the following statements:

1. United Nations Convention to Combat
Desertification (UNCCD) is the only
legally binding international framework
to address desertification.
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2. UNCCD is concerned with the
management of only desert ecosystems.

3. UNGA has declared 2010-2020 as the
United Nations Decade for Deserts.

Select the correct option using the codes given
below:

(a) 1only

(b) 1and2only
(¢) 1and 3only
(d 1,2and3

Consider the following statements:

1. Vienna convention entered in force after
Montreal protocol.

2. It has been ratified by all United Nations
Member states.

3. India has ratified Vienna Convention but
not Montreal protocol to protect MSMEs.

Which of the above statements is/are correct?

(a) 1only

(b) 2 only

(¢) 1and 3only
(d 1,2and3

Consider the following statements regarding
the Kigali Agreement:

1. Itputsalegally binding voluntary Carbon
dioxide emission reduction targets on
COP member states.

2. It is an extension of Paris Climate Deal.
Which of the above statements is/are correct?
(a) 1only
(b) 2 only
(¢) Both 1 and2
(d) Neither 1 nor 2

Consider the following statements regarding
the Minamata Convention:

1. Minamata Convention is also called the
Mercury Convention.

2. Under this convention India will phase
out mercury-based products by 2025.

Which of the above statements is/are correct?
(a) 1only
(b) 2only
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